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J1=2 2 HI(CHOIS) 85, 186 84,865 321
=N 39,786 37,465 2,321
201 YEr2gy| 39,786 37,465 2,321
01 At 22| bl 14,940 13,380 1,560
O1.YBr+8H| 9,600
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A Uols
M HY2FZHI(THOIS)(IIEH/IIE)
el JI2ZHI(HoIS)

M -3 - SHA(SAH) - MEAY -

H A

g8=

r

22
J2

20
B
2

=YY 9,600,000%! 9,600
Og| 1,560
S EEL 30, 00021 #1% %502 1,560
05. 22| 2,280
-2A2Y S 2,280,0002 2,280
06. Y2 1,500
—#FeY THAXNE 1,500,002 1,500
02 222 H| 24,846 24,085 761
O1.3ZR3LHAl 16,622
@123 9,500,000%! 9,500
4223 900, 0002 900
SN ERLS 200
e 100,000%! 100
Az 100,000% 100
~ENEERBE 4,950,000% 4,950
SR A B2 700
CEHE(2F) 700, 00024 +1CH 700
-IPTV HEXEY ABE 31,0002+ 128 372
02,912 700
-227|(35) 70,0002 700
O3. A& HHIR X 4,186
~A SR bl 2,086,000%! 2,086
ST SIE ML 2,100,000%! 2,100
O4. 42 ¢ Bt 3,338
-3t2(48) 3,338,002 1H 3,338
R =T 0l 34,320 34,320 0
202 01t 34,320 34,320 0
02 22 O b 34,320 34,320 0
SEEIVE] 260, 0002+ 112 +128 34,320
SRS 10,080 10,080 0
203 2R E & H| 10,080 10,080 0
NEEEEEESSY 6.600 6.600 0
OJlESYYR=Y) 6.600,000%! 6.600
02 BRIIMREZH| 480 480 0
OZ ML RETY) 40,0009 *12% 480
M4 EN2YHREEY| 3,000 3,000 0
ORNSYLRETH (I :129)
250, 00024 * 122 3,000
Kot 2 2EHSH) 1,000 3,000 A2,000
405 X+ S| 1,000 3,000 A2,000
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SN
X XH .
S Tt

el

tols
HH2AZHI(LHOIS)(IIEH/IIE)
Jl2ddI(tHols)

[
2

500,000& +2CH

1,000
1,000
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